


Revision for Test 4 2019
Question 1							(4 marks)
Demonstrate your understanding of the “limiting chord process” to evaluate the      following derivative.                                                                                             

 
Question 2							(2, 1, 1, 2 = 6 marks)
 
(a)	Determine  when .	(2 marks)

(b)	Simplify

(i)	.	(1 mark)

(ii)	.	(1 mark)

(c)	Calculate the gradient of the curve  where .	(2 marks)

Question 3                                                                                                (6 marks)	

Use Calculus techniques to determine the nature and location of any stationary point/s and sketch the curve      .  
Note: Estimate the x-intercepts as they will not be marked.
  
Question 4								(2, 2 = 4 marks)
Find the antiderivative of the following. Do not simplify your answer.
	a)
	


	b)
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Question 1 (4 marks)

Find the derivative of 3x? using first principles.
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Question 2 (1,2,2 =5 marks)

2) Caloulate - (5x* — 3x +8)
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b) Find f'(x) if f(x) = 7x —%
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¢) Differentiate with respect to x, y = (2x — 1)2
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Question 3 (2,2,2 =6 marks)
a)Find y if:
i) =t

—7t—3x +2‘ A P
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i) vy =2(3-2x)?
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b) Evaluate [(5x* + 2x) dx
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Question 4 (9 marks)

Use calculus techniques to determine the nature and location of any stationary points on the
curve f(x)=x"— 8 +16 .
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Questiop 5 (4 marks)

; : . L d : :
The gradient function for a particular curve is given by % = 2x — 3. Atpoint A on this curve

the equation of the tangent is found to be y = 3x — 7. Find the co-ordinates of point A.
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Questioq/ 6 (4, 3, 2 =9 marks)
A recursive sequence is defined by the difference equation a7),, — b7, =12 and is such that

n+l
T,=2,T,=4and T, =20.

(a) Establish the simultaneous equations2a —b =6 and Sa—b=3.
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(b) Solve the simultaneous equations from (a) to determine the values of @ and b.
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(c) Determine 75.
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Questiof\ 7 : ' (4 marks)
A particle moves along a straight line so that its velocity after 7 seconds is given by
10 — 4t + 3t% ms™* for all values of 7. What is the distance travelled in the third second?

Hint : The particle is never at rest.
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Question @224 marks)

Onthe sxes provided, using the same seale for 8) skt the graph of (<), for b sketch the
Ephof g(x). ™

)

Endof Test
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